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1. In the picture on the right, the radius of the big circle is 6 cm, and the radius of the small
circle is 4 cm. What is the perimeter of a square? (A)40 cm (B)56 cm (C)64 cm (D)80 cm

<fEt> /
EHFHERE=6x2+4x2=20
FEE=20x4=80 > %D o
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FIESRIS— R e » Eofor » sigls | 0 (= > =
BT F 4R - WEOFT B TIE—E |
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3. GEE—EE | AoiRITEERESR  INER 22 87 0 " 128597 0 526 A7

S A TS D ATHITR? (A)S (B)6 (C)7 (D)8 _—zen
<> Ay ™
A E=22-1x2=20 [
AR =12-1x2=10 |
P& =26-1x1=25 e
20%10x25=5000 |
5000 TrF7AST=5 ATF A - \

4. In the nine-square grid on the right, the sum of the numbers in each row, column, and

diagonal is equal , then a is . (A0 (B)1 (C)2 (D)3
<FEE> GEIVERT - 517 Y - HAGNSEIHIGES > Bla FiZ2/07
<> a |9
BB I T b i 5 | 3
1+5+9=15 b |53
15=5+3+b—>b=7 o |1 6 | 1

at7+6=15—a=2 > HE C o

5. AWfrataz E > S—FrVEREEEE Y 3 f£2% 30000 T - (5 ~FHVERREESE —
RHY 3 %70 330000 7T @ WIS E—EEE - qf e/ Grd& - IETER
HIXE(E 2255/ 5T2 (A)110000 (B)115000 (C)120000 (D)125000

<figfr>

st —F R x 7T AIEE—{F & 3x+30000 7T

x=(3x+30000)x3-330000

x=9x+90000-330000

x=30000

55— {#:=3x30000+30000=120000

7 {E14=(30000+120000)x0.8=120000 > 3 C -

6. HEELEERES | MELIRET O Hm A > 22 E | LR 5 24 A 0 (EPbeiRE LI
Sl 4 52 2 A\ (FEREERE A b2 Hiavm A2 173 A 0 HTEFFEEE 2%
/PRI A2 (A)198 (B)189 (C)207 (D)180

<fEHT>

B2 A x A (RSl T 4x+2 A
9(4x+2)-5x=173

36x+18-5x=173

31x=155

X=5

HUEBEE IR A=9x(4x5+2)=198 » HE A -
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7. WE - E—EEHESRCEERGE > P AR EEa A 1-~2-66~ 8 JJEF

B ETAERUE 507 (A)24 (B)26 (028 (D)30
<fitiF> S —
1:6=8:[ ] 1 :
[ =48 s 4 8
X+y=48-8=40
x:y=2:6=1:3 2 6

3 \
=40x—=30> D o x v
y 1+3 =

8. —{EIPE&R - BAELLLCAER 2 505 A WIS 3 52 Zoppli—4H &R sely - A
IS47IBTIE 3 A B (EBISE %0 A2 (A2 (B)43 (C)44 (D)4

<fEAfT>

RSy x tH=> BEAA 3x+3 A Z04EA 2x A0 3x+3=2xx2-5

3x+3=4x-5

X=8

FH=3x8+3=27 » 4 =2x8=16

27+16=43 > #E B -

T HEEEAERE S 97 0 3540 77)
1. & PQRS 2—{E&JTIF » PQTU 22— (BT » KRR E SR PN

g7 e P U s P U S
<fih>
TR =20-12=8 12 cm /)
AUVT =8x12+4=24 12 cm
APUT =12x12+2=172 ;Q ; y
HURIAR I FE=24+72=96 £ J7 /N7 o L 20m |

0 T R
%— 20 cm ‘

2. B 7IRAT  GiNE 13 HORTESETTLAAL 4 LA > 4R8% 4 H9SL T TLAAL 3 LA
8k 5~7 HEERTTLL 2 (BN - AISEAERAL - A 5250 T1 » VS — (R TR
ﬁ: °
<fiiF>
4x3+1x3+3x2=21
5250+21=250
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3. i/ NEHAE R AR 350 A $RHUR 32% LA 450 A sREER 20% ’

ERIAAFEHR AL % o GeHMER A EINEVNEEE AL > F b E 7%)
<ﬁﬂ‘ﬁ>
350%0.32=112
450x0.2=90
(112+90)=(350+450)= 202_2525 . () r5-950,,
800 100

4. M 4 (EEFAEE - i (BB s - g = (E T - KPEREP A RS

zlzji/\/\ 15 cm
<fiFtr> _
IEJT B R=15-8=T —
TE=18+7=25 S \
BT E=(15425)x(7+7):2-280 / |
B TS =280%x4-7x7x3=1120-147=973 L

5. There are 10 street lights on the side of the road. In order to celebrate the festival, 4 of them
were replaced with 2 red lanterns and one each of yellow and blue lanterns. Then there are
ways to replace.

\

<FEE-BER—HIE 10 |EE > K TEOEIH > 830 4 FERE 2 BB AE - BV
EE—E - AiEts TS T -

<ﬁ$’fﬁ>

ECUNE A EARAN-—{-SEA Rt AN - cARAN-SREA RN AN AN - AR
fiéI%iféI BEAT o4l ~ BEE el 4L ~ w44l ~ Al eaRa4l ~ 41 EEeagl > L 12 f&
( 4! 4x3x2x1
2111 2x1
10 Zp&fepkis 4 =

clo 109X8x7 510 5 210x12=2520
4x3x2x1

=12)

6. PEHIEREHEHGEA  FARA 20 7T FHEEER 8 T E - HIFEERS 20%9F]
o ARG AR 12 FEEN 7 HTHE > TIEEIELS S0%MFER - A
BREANAEERE %

<figeffr>

20%(1420%)=24

24+80%=30

30x70%=21

21+(1+50%)=14

(20-14)+20=0.3=30%

International Mathematics Contest (Taiwan) 4§ %(5 E2CS)



7. As shown in the figure, fill in the appropriate numbers in the blanks of the division formula

so that the formula is established. What is the dividend? o
<®E>UE - AR ZERNE A EENE Y » R > SFREREESD?
OO0 On
2]
[]0[]
[]2
[]2
L[]
3312+23=144 » #x#=3312 []
8. TLFIZNALEL 21ab47 #7504 Lk > BTG EIERES 11 HEE S 8= °

<FERT>

21ab47-11=21ab36

504=2x2x2x3x3x7

b36—>F A 8 IMEH > b=1-~3-5+7

s 9 Rz e

b=1>a=5;b=3>a=3;b=5>a=1; b=7 > a=8

fa s 7 L8

215-136=79(F %) » 336-213=123(F2) > 536-211=325(K2) > 736-218=518(S 1)
7S AL $=218747

=~ FFERE(10 43710 43 > 3220 4)) SCOREFHEBEA T

Lo [E8R 1.5 AFHRVEEH B 2N =FEER EEE R E B R E ROk E (&
(B DAV E F AEEU SRR AT)

RS | %E{H 230 JC 0 15% off
ZAEE | EE 250 JT 0 T2 L
W | 2250 199

<>
g E=230%(1-15%)=230x0.85=195.5=196
ZE=250%(1-80%)=250x0.8=200
PIR%)E=225%0.9=202.5=203
R R
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2. —EfiZERRELED > FRERESIRE > 3 — BN B R AR - R
REEGTFEEEN 18 PHGUTENEDRz - WEIE0E 286 P& %035 " JGREER » SU# 10 FPUL
FIE0R > HRIEAT 2 RIS VERE R THY 2R INRIRD o (R AT /K T {EHE
R Ry 1500 2 RUFD)

<fEfT>

1500x18+2=13500

1500x10+2=7500

(13500-7500)+(18+2+286+10-+2)=6000+300=20
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